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PERFORMANCE DIRECTIONS

Letter Pieces is a series of short performance pieces that combine physical action, spoken text and sound. Each Letter Piece has a
score, positioning a small number of physical actions and sound objects - which the players invent - in a fixed order. They are
called Letter Pieces because the scores use letters to represent these sounds and actions. Letter Pieces are ‘open works’: aspects
of the score are left open, requiring performers to make creative decisions. To put it simply, I've created the structure and the
players create the content within a prescribed framework; two enactments of the same piece may look and sound entirely different.

Letter Piece 7 is for two players: player 1 performs a set of physical actions and has a spoken part; player 2 performs a set of
sound-events, has a spoken part and in one section performs physical actions.

Each physical-action/sound-event is one beat long. There are various tempos (from 40 beats-per-minute to 200 beats-per-minute)
so the duration of physical-actions and sound-events change.

The changes between tempos should always be sudden, and there are no breaks/pauses between sections.

Unlike other Letter Pieces, which are more ‘open’, in this piece all of the physical actions are “signed words” (using British Sign
Language).

Physical-actions and sound-events must be performed exactly the same way each time (without variation).



NOTATION

Spoken words and letters are notated in quotation marks (e.g. “Tea”, “A”). The spoken part should all be said in tempo, beginning
the work or letter on the beat. The spoken part should be delivered strongly, but not over-acted.

The physical-actions in this piece are all British sign language physical actions, which are notated with the greater then symbol,
which precedes the given word or letter to be signed (e.g. > tea, > A). The player may perform these signs neutrally or
aestheticise them.

Performer 2 plays two types of music in this piece, which may be performed vocally or on an instrument:

(1) Specified pitches and ornamented pitches (the way it is played — staccato, tenuto etc - is left to the discretion of the
performer), which are notated like this:
2A indicates play the pitch A (any octave)
#2 Ak indicates play the pitch A with an ornament (any octave)

(2) Three sound-events that performer 2 creates.
21 indicates sound-event 1

The sound-events may relate to the suggested sounds of the signed words, or not. The three events should contrast with one
another so that each is distinct.
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